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Question Number : 1 Question Id : 6780949405 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

oy the differential equation

Options :

1y — xdr =0
1.
_ovan =y =1
ST = TR
& &

3 A .

17 dy—x dv =10

4

The family cf the straight lines passing through the origin s represented

Question Number : 2 Question Id : 6780949406 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

. . 1 .
The integrating factor of x— =—-1 - 3is
x)
Options :
|

L
,5 52
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i

]
g

~
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Question Number : 3 Question Id : 6780949407 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential eguation vay — 2ydv =0 raorazests a family of

Options :
1 _lrcles
Faranolas

Ellipzes

e

straight lines

Question Number : 4 Question Id : 6780949408 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The solution of % L —.T:.jrzlz-._';zcm F=1, 18
Ay n

Options :
1

-
—_—
- =

Jay =1
1

11— .1-'4 =

—

12

4y =1

!_-.-

4
1 —4x) =¢

Question Number : 5§ Question Id : 6780949409 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The solution of the differential equation xdy — 1dy - xdv=0is o

Options :

U I
1

:
Y- 1=
3]

'—x =LA
3.

v — X7 =0
4,

Question Number : 6 Question Id : 6780949410 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

B

The general solution of p=x- = v~ is

Options :

&
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Y —xCH Yy —xe) =1

1.

[ v—exlixvy—cl=1U
.

(v -cxiny - =14
3.

(A —wHy+xer=10
4

Question Number : 7 Question Id : 6780949411 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i

T i =
1 . , . ] = e Gl
A hich of the following is the gensral saiution of + = 1; .1
A
Options :
V=000
1.
co2
e
. X
V== X0
3,
V=¢—-Cxr
4

Question Number : § Question Id : 6780949412 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g

e cdr

The singu:ar solution of -3 — —1={13
: - 1 JU ——
el ¢k
Options :
v —dr=(
1
. X-dysl
Ay =y
X .
™ ] .
T4+ T — Ay =4
=%

Question Number : 9 Question Id : 6780949413 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“

The solution of 11— 2py=—2v" IS

Options :
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1.

v — =4
c
o la—r] =4
.

\ 3

|l ¥ — ] = <+

4,

Question Number : 10 Question Id : 6780949414 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

, . ey e .
Thne sollion of —=—2= - 15
5 = SH =g
Options :
il ) ! »
N = = X B ey
.. B
1 i .
VT — 1T =00 — 2V — D=y
L i . i
N~ — 5T S LBl LY = 2 =15
3.
! .
V=T = AN Y =D =0
4.

Question Number : 11 Question Id : 6780949415 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The particular integral of uf.ifﬂ —1ly =cosx I8

Options :
A 5
(51N + COS X))
17
1.
X h
—— [45HIY — D5
13 ’
Y _ k
—— [ 4SI1Y + COS N
L7
3.
X
[A4511N — 205 X
L7
4
Question Number : 12 Question Id : 6780949416 Display Question Number : Yes Single Line " ~— % - - *- /=«
Orientation : Vertical
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The particular integral of (I = gDy =sinax is

Options :
A
— et
-
1.
N
5 145 L
N el
A
— 5111 &Y
-
i T
i
SHIL AT
e
4

Question Number : 13 Question Id : 6780949417 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The two lingarly independant solutions of tne giffereniial eguation

v —ap — =10 are

Options :
.
N ke
1,
N o
i
e
. &
1.
Y. 1"
4.

Question Number : 14 Question Id : 6780949418 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f 1 =+vis a solution of v — 1 — v =0 then the second linearly
ndependent soiution of the above equation is

Options :
}

B

Y

~

o’

!_-.-
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Question Number : 15 Question Id : 6780949419 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

| | - | ﬂrf y . |
Lonsider the differential eguation —= :—:::Tﬂ-*:{; Fth Boundary
Ty A

conditions v =1andwl1=21 The valus of 1{2) is

Oiptians
1. -]
]
e
]
g
1

5 ¥

Question Number : 16 Question Id : 6780949420 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Particular integrai of {D- - 2D =1'w=3"is

Options :

~
3

A 8

(1 —ioea;m

1.
I-'_;.'.
. L
(] —loza)”
3
(1 —log 37
3.
l-'_.l'-..
(1+log3}
4

Question Number : 17 Question Id : 6780949421 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The particular integral of the differential equation il 1’“ =g s
A
Options :
Loz -:1ff.lj —1
L.

8

L
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lozai® —1

Question Number : 18 Question Id : 6780949422 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The solution of the totai differantial ecoation
voioz odv - cxlog odv - xydz = (s

Options :

“laz =m0
1

Ninz D =o1

|

)

Question Number : 19 Question Id : 6780949423 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Particular integral of (D~ — )y =cou 2x—1) IS

Options :

—xcow 2y =13
1.

E ;

—sziif 2 —1]
.

veew 2y —10
3.

— sl 2 —1)
4,

Question Number : 20 Question Id : 6780949424 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of — o ooy =
f1—1 -

Options :

g ixlogn—1)

.

e {vhkzy—1;

L

L, _F _ "
griviog =i

L
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Question Number : 21 Question Id : 6780949425 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

£

f -2V ig g solution of the differential equation v —av' — by = 0. whare &
and £ are real. then

Options :
pe=difi=5
l.
oa= | Jri=: B
. oa==-14=8
.
g=3b=48
4.

Question Number : 22 Question Id : 6780949426 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

if s an odd prime then ~ 2P = wheres 1S an Elier totient
function
Options :

1

%

I

Question Number : 23 Question Id : 6780949427 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

{2 be an element in a group such that Ofa: =20 then Oia") =

Options :

{ o
10

|

20

L

4

Question Number : 24 Question Id : 6780949428 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The numoer of subgroups of @ (Z,..+,;) is

Options :

- .
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2
10

171

L J

L

Question Number : 25 Question Id : 6780949429 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f 7 is a cyelic group such that{Gi= 48 then the numbear of proper
sUbQrouns of Gis

Options :

]
A

?
-

L

!_-.-

Question Number : 26 Question Id : 6780949430 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The generators of a cyclic group of orderi G =11 2.3.456.. -] are

Options :

1 2 Aand 3

- 4 and 2
3 ang s

N

.35nd4

Question Number : 27 Question Id : 6780949431 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f QG =65 OiF 1 =15 then the number of distinct left cosets of 5 in 548

Options :

| 4

S

—
|

L

Question Number : 28 Question Id : 6780949432 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f .G — G I8 an onto homomorphism with kernel K, then

Options :
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_r='i'_?'
1 A

A _

— ==
. ir

ﬂl:ﬁf
3. G

G;:H
4. -

Question Number : 29 Question Id : 6780949433 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[-..' l | i L P |-:-'1‘.|.T'-:' :-.L'---'I = -':"_-'.'- .:.:-'_-I!-llil ._ i:.'ll". —
f o 12 & group homomaorphism from 2-, Za{ran K |

Options :

. 1
{ﬂ.;_g}

L

)

Question Number : 30 Question Id : 6780949434 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

viwhich of the foliowing is NOT CORRECT?

Options :
1 Every subgroup of an abelian group i normarf
Every abelian group of composite ordar possesses a proper normat
_ suRgraup
Every group of prime order has proper hormal subgroups
T
The infersection of any two normal subgroups of a Jgroup is & normal
SUDGrouUp.
4

Question Number : 31 Question Id : 6780949435 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f ¢ and b are two ariitrary vectors with magnitudes a and b respecltively

'ﬁ

il e egual 1o

Options :
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3
=B
T —_— - _1|
LathT—la . b
.
FLEC NI )
A

Question Number : 32 Question Id : 6780949436 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

l-' T

The derivative of the vectarfie d >aor— 2y — w278 3101010118

Options :
{ 7
4
3. 3
;0

Question Number : 33 Question Id : 6780949437 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

Vi )= .where y=|R|. R=xi <y -k

Options :

-L

Fn o+ LipT

Lo

E

gin -1

Question Number : 34 Question Id : 6780949438 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The directional derivative of s =x- -1~ -z at (1.1,1} i the direction
ofi — kis

Options :

e b

0

1

L

Lo
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Question Number : 35 Question Id : 6780949439 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of + forwhich the vacior fiale
Vo= (x+23)7 +{v—21017—({x—.Jz1% Is solencidal

Options :

1. O
Z

—2

| 2

L

Question Number : 36 Question Id : 6780949440 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maxiimum valie of the directions, gerlvat'yve of e funsh.on

k- 1

G=1x" =317 —53z7 atapaint (1.7-1:1s

Options :

L

IS

L

1ol

Question Number : 37 Question Id : 6780949441 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f 4. B are two constant vectors then grad (4 8)=

Options :
]

1.

.8

L

Question Number : 38 Question Id : 6780949442 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T ~if} has a censtant direction, then

Options :

F-HTF—{J

(i
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F = ]
] it
iF
F~f =constant
. aAr
.
(dF
Fo——=
g el

Question Number : 39 Question Id : 6780949443 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The relationship among the thres vectors i— j+ /i 2w 37 <k and 55 +67 — 4k
2
Options :

The vectors are mutually perpanciculad
1.

The vectors are lineary independent

L

The vectors are linearly depandent

e

The yvectors are unit vectiors

Question Number : 40 Question Id : 6780949444 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vectorfield ' =xi— v 7 {wherei and ;7 are unit veciors} is

Options :

divergence free but not irrotationas
1

rrofational but not divergence fres

L2

divergence free and irrctationa:

Lo

neifner divergence free nor irretational

Question Number : 41 Question Id : 6780949445 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f 5is any closed surface then

Options :

f N LAY =0
LS

=h

[V F s =10

. Ny
&
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i

(YF).dS =0

-

3, 4
(V- Flds=0
5

4.

Question Number : 42 Question Id : 6780949446 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Given a vector field F. the divergerce thasrem states tha

Options :

| F 7S = [{V-Fidv

) i
1

[ F-nds = [(V - Fydv
- kY |

F TS = J* Y- Fdv
) E. .-
.

| FoidS = | (V- F)dv
) ','E ‘l',

Question Number : 43 Question Id : 6780949447 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WWhich of the fouowing 1s NOT TRUETY

Options :
1 The circulation glong every clogsed surface s Zero
_ Every solinoidal field s conservative
_ The fiux across every closed surface s Zero
.
n a soiinaidat field for which ™ . F =d.the vector F can always be
4 expressed as the curl of a vector v

Question Number : 44 Question Id : 6780949448 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f F=avi ~My —czk. where a, b, ¢ are constants and S is the surface of

the unit sphere. then the vaius of [[F-ﬁrf& S
§

Options :

4

1.
&
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— =B
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3
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Question Number : 45 Question Id : 6780949449 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f & is the unit cutward drawn norma to any closed surface then
div NJV =

br

I

Options :

1 -
. 23
35
, 0

oy

Question Number : 46 Question Id : 6780949450 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Sioke's theorem connects

Options :

1 a ling integral and a surface integral

g surface integral and a volume integral

-

a line integral and a voiume integral

!—'J

gradieni of a runction and its suiface integral

Question Number : 47 Question Id : 6780949451 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The nacessary and suffickent condition tnat the line integral JF-JE ={
{'-.I

for any ciosed curve C1s that
Options :

v OF =10

g

I

&
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VooF =1
23

Question Number : 48 Question Id : 6780949452 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The integral }{I velv — ydv] is evaluated aiong the circle + —f =i4
s

traversed In counter clock wise direction. The integral i equal to ---

Options :
(]

1.

. o

3 -

4 3

Question Number : 49 Question Id : 6780949453 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f F =37 —2)7+3zk. and Sis any closed surface enclosing & volume V,

then || F - NdS =
3

Options :

[V
2

L2

4

L

5
4. &,

Question Number : 50 Question Id : 6780949454 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The work done in moving a particle in the force field

— | — .- i 1 r i
F=ox"i —{2xz—-vij—zk. aiong the curve defined by

v =dv iy =8c tromxy =0 tox = 2145

Options :

] &
)

L2

4

, 18
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Question Number : 51 Question Id : 6780949455 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhich of the following points Jig ¢n the same side of the

-,

planegy-1--=2

Options :
{=1.-1.13 anxd (11,10

1.
. ' 1.-3.8) and (1.1.—11
j=1.-1.-1] and | 1115
3.
[ =, T=1% gard 1. 1.1}
.

Question Number : 52 Question Id : 6780949456 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The distance betwean the parallel panes -v—v -4z -11=1 and
Gxy—2v—-4--5=0 18

Options :

1 4

L
| .2
|_I
.1

Question Number : 53 Question Id : 6780949457 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The lines y=av—-b z=cv+4d and y=av-=-»0. “=c1—4d are
perpendicular if

Options :
et — e =1

it e =—1

L

Db ~dd =1

)

bl —dd =-1

Question Number : 54 Question Id : 6780949458 Display Question Number : Yes Single Line

Orientation : Vertical
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The equation of the pane passing througn (L.0.-2) and perpendicuiar to
gachoftheplanes Zy-py---2=0auly—v—o=2]8

Options :

Z R s i ol = 1
1 . 1

g g pe— g ot = 1

A=V —as = =1

)

SX—1=3-=4=1

Question Number : 55 Question Id : 6780949459 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The perpendicuiar distance f-om the point (i 2.7 12 the ling
r—0 v—7 =7 .

= = 2
. 2 — o
Options :
1 14 Lnits
. & Units
L7 Units
.
17 Units
E

Question Number : 56 Question Id : 6780949460 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The powver of the point (L 1.11whih respect o the sphere

L E.

" | |
eyt =T Ay —0r =82 =25 =1 |5

Options :

1. 26

2{
22

, 24

L J

)

Question Number : 57 Question Id : 6780949461 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-L

L L s .- -, - - =
The centre of the sphere Yy~ - v -7 10y =201 -202-31=0 is

Options :
| 5 100 10l
rEEC
1.

&
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> =1 100

(=5 L0, —Lin
3
i 1L 4 I
20D - S
4

Question Number : 58 Question Id : 6780949462 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Forwhat value of a. the plane v+ 1+ - = /3 Is a tangert plane to the
':. |

..I &
spherexy — v s —2x-lv-2z =05,

Options :

o=
"l_!_‘-!.
1
5 E,
s
-
.
\jf’.«: a
4.

Question Number : 59 Question Id : 6780949463 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the tangent drawn from Pl 2. -1 {0 the sphere

-
|

-
i

XT3y -7 —dx—v-=YI~-d=idis

Lo
LB
=

L

Question Number : 60 Question Id : 6780949464 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The limiting points of the coaxial sysiem of spheres

|37 - 1T+ 2T = 200+ A0 407 - 200 A 2v -3y -4 =0are

Options :
[ 2.—=35.43 & IL—:. 3, —il-:E

|=3.2=47 and (2 2.4

| 2

&
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[-4.3-20 and {4.3.2)
3.

| olobe=d ) and 1 2.4.3)
i )

Question Number : 61 Question Id : 6780949465 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

5 :
.
o

The values of Infimum and supremum of the set =~:.TER_ 3XT X are

Options :
( U andi

~ =% and

7 0 and 3
4 tand3

Question Number : 62 Question Id : 6780949466 Displav Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sequence {5, : defined by s, = E"-_il:'“ s
3
Options :
) ncreasing seduencs
N Cecreasing incragsing
_ Neither increasing nor decreasing
3
. Both increasing and decreasing

Question Number : 63 Question Id : 6780949467 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

- . . onT,
The set of limit points of the sequence {s.i=simn—/ i

HI

Options :
']

I
—1.1)

-

)

Question Number : 64 Question Id : 6780949468 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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Options :

|
25
N

S’ ]_

kb

L

< :

= nip—1"

Question Number : 65 Question Id : 6780949469 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The function fix}=|x in [-L 1] is

Options :
1 Lontinuous and derivakie

ﬁ Continuous bui not derivable

3 Darivable but not contihuous

. neither continuaus nor derivahle

Question Number : 66 Question Id : 6780949470 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

J F—Cosay | ]
If Fia)= _ = continuous at x =0wnere filh=—then a=
TELY 2
Options :
{ ]
: -1
=1
.
)
4

Question Number : 67 Question Id : 6780949471 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f F(x)=|x—1 then the left derivative of fix) at x=1 ig

Options :

1. '1

&
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Question Number : 68 Question Id : 6780949472 Display Question Number : Yes Single Line Qucestion Option : No Option

Orientation : Vertical

. : AUt | B S
The value of ¢in Rolle’s theorem for fi=—— infi. 71 s
o Py

Options :
1S
.4

2
3.
14 ry

Question Number : 69 Question Id : 6780949473 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
In the Tayior series expansion ¢f ¢ aboui =2, the coefficient of

(v — 20715

Options :
!
E:
1.
-4

L
- I:‘I

&
4
3.
4
&
4
3.

Question Number : 70 Question Id : 6780949474 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

; I 3
The function Flxi=xsim—.(x =00 Flx)=Cix =01 At x=0. fixiis
A

Options :
Continuous and differentiabls

~

i
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Cortinuous bt not differentiable

La

Cifferentiabie but not continuous

oy

not continuous and not differaritiable

Question Number : 71 Question Id : 6780949475 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

. . ) 1 Joon _ . -
f fizi=x" definedon [G 1]ans F=-0 — ——. . then L. P fi=
R A
Options :
-
. -~
>
2 5
3l
.
A
4. 3=

Question Number : 72 Question Id : 6780949476 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If fix1=[af for x=[d. 3] then
Options :

fxthas infinite nuimber discontinuous points in [U, 3]

fxl s unbounded on [0, 3

. fixkiz Riemann integrable on [O, 3]
fix)is not Riemann intagrable on [0, 33
-

Question Number : 73 Question Id : 6780949477 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If fivi=lwhen x=0 and fixvi=0 when y= R -0 then

Options :

| £ividy exists

L, =

Lower and upper Riemann integrais both exist, but not equal

i-l.
]

&
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Maither lower nor upper Riemann integral exist

-
.

fixiis diffarentiable

Question Number : 74 Question Id : 6780949478 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f fila &) — R Iz bounded funclicn and £. B =4« &) suchtnat 2 - &
ihen

Options :

GRSy UlR. f)
 U(R. )< U(B. £
. LB NP f)
| URf1=CiB.

Question Number : 75 Question Id : 6780949479 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

fpisaprimethen (Z,. -, ;118

Options :

| Non commutatnie ring

Has Zero divisors

L

A flalo

L

Mot a field

Question Number : 76 Question Id : 6780949480 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f K Is a commutative ring and — 4.5 = &, than

Options :

_0 . 5
| | =B =a" =5"

N E 1
] i —B1" =an° —h"
=k =T —hT = 2ab
.

o . k

a—HT =la-5b1"

4

Question Number : 77 Question Id : 6780949481 Display Question Number : Yes Single Line uestion Ontion : No Ontion

Orientation : Vertical
]
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Consider the ring £=10.2.4.6¢.8.10] under muitiplication and addition
module 12 then char (R)=

Options :

| 2

L.

L

4
B
-

Question Number : 78 Question Id : 6780949482 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sclutions of the equations v~ S1=" intre field (z..2. 2. ars

Options :

.
1. 2

1.

L2

2, 3
, 1.4

Lo

Question Number : 79 Question Id : 6780949483 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Let & e the ring of all 2 . 2matrices over Z.the set of integers. then
Ta '.
M= 3a.bel > s

|. | E] {:} | e —

Options :

1 Lafi ideal but not a right igeal

Right ideal but not a left ideal

L

. lelead
A,

Heither left ideal nor right ideal

Question Number : 80 Question Id : 6780949484 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T aand b are associates N an Euclidean ring then

Options :

| dlay=dibi

diai dih

L2

dibt- dia}

L

&
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diaydih
3.

Question Number : 81 Question Id : 6780949485 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the foliowing set of veciors in R RYis linearly indepandeant

Options :
FL L2 (L2050 f% 340

1
ALRRNLY T S P S T ST R VAN
LT NS R RS R QR FEY )

3

: LUV R CUTD A R € N P A A

Question Number : 82 Question Id : 6780949486 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T 1% 18 a subspace of R™{R' given by F:=ila. b.oe.db d=—2e+d =10
then dunf] =

Options :

| 2
4

-
Z
3.
4
;‘I_. -

Question Number : 83 Question Id : 6780949487 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If L7 =300 210,00, L2} and W =, 10010100 than the dimension of
LW

Options :

1}
2

L a3

5
4 &

oy

Question Number : 84 Question Id : 6780949488 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum number of linearly indepandent vectors in a vecior space
of dimension o is

Options :
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Question Number : 85 Question Id : 6780949489 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘I

f 7: R — & is a linear transformaticn given by T2 21=:4, 51 and
Ti1, D3=(0.0). then T(5, 3)=

Options :
| ¥
| s
1. "
{810
| = 3]
3.
{7, D
4.

Question Number : 86 Question Id : 6780949490 Display Question Number : Yes Singlc Line Question Option : No Option
Orientation : Vertical

- i E 73 : . ; :
f IR =R and I.: K- — K- are two linear transformations defined oy
Livoyvooi={av. dv—z) and 75{x. v)={—x.yvJ thenT.I. Is

Options :

(=3x, dy+z)

3K 4Y-zZ)
3K 4dytz)
. not defined

Question Number : 87 Question Id : 6780949491 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f 7:R° — &° is a linear transformation with nullity of T is 4 then rank of
T s
Options :

1

=
ol

L

L

&
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Question Number : 88 Question Id : 6780949492 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

7. — s g linear transformation defined by

Fix.vi=i{x-v.2xy—v.7y)then tha matrix of T relative to B, and B, 13
cwhere B and 5-are the standard bases of

Faoand i respeclive'y.

Options :
-
- 1
. = -
R
'_2 | ?_
v g"
K
T
;i B
1 > 0
1 -1 =7
El

Question Number : 89 Question Id : 6780949493 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

P 1 1
FRankofthematnx 4= 0 I 1 I

(1 9 0

Options :

N 5,

= 0

L s

.

q O

Question Number : 90 Question Id : 6780949494 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Forwhat value of K the sysiem of equalions
y=yv=r=3x5-2v=i-=4 yx-d1 -k =6 will NOT have a unigue

soiution?

Options :

=

1
&
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Question Number : 91 Question Id : 6780949495 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i 1
f A= 2 1 3 . then detiddid =
_fil | :-_|
Options :
i
1
_ det 4
o —det A
.
Iicietii.lj
d.

Question Number : 92 Question Id : 6780949496 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

UL B
| | = 1 7 2
The determinant of the matriK 4 =. , 2
2 - 0] _
|9 0 6 1

Options :

-

~ 20

Question Number : 93 Question Id : 6780949497 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of g for which the set of inear equations
~y—av =6y —gr =0can have nen trivial =ciufion is

Options :

] 2
=

=
&
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Question Number : 94 Question Id : 6780949498 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vi'hich of the foilowing statement is TRUE for all real symmetric
matrices?

Options :
All the eigan values area real

All the sigen values are positive

1

All the eigen values are distinct

L

=uUm of all the eigen values |3 Zero

Question Number : 95 Question Id : 6780949499 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

— W
Cne of the eigen vector of the matiix 4 = 5 & s
Options :
-
1
s T 7
| '."=:| l
'S
3
e
1
-

Question Number : 96 Question Id : 6780949500 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The nacessary condition to diagonalize a matrix 1s that

Options :
The matrix is non-singular

ts eigen vaues should be real

-|I
—l

&
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ts eigen vectors should be indepandent

e

. Its ali gigen values shoula e distinet

Question Number : 97 Question Id : 6780949501 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e

T o =(—L1and £=72.0.-2) then

Options :
1. 0
.

L

J2

Question Number : 98 Question Id : 6780949502 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For o & =1T. in an innar oroduct space V(F). the triangie inequality staies that

Options :
2~ fl=lell- 1
- = e
1
RS- |-l == B b
-
N NIEE
3.
‘i?r’—_;ii 5 r:rH—‘,iﬁ
4

Question Number : 99 Question Id : 6780949503 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=
ll.':.

In an inner product space ViFL for a.b = F and o, F=T. hen (ae.bf | =

Options :
Ghd . 81
1. '
L OB )
i'EE.’-'{ ie, ,i? F
3.
i (i [ oo, i)

Question Number : 100 Question Id : 6780949504 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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It o, & are two vectors In an inner product space such that

.F

S 0 I | D 11
I.._-.-'.:l. ._|L-' _,I‘ EREE HI:".‘ |I_I

-

then ., A ara

Options :
Linearly dependent

Linearly independent

L 2

_ Qrihonorma
2.
Qrihogonal
=3
sdalytical =it

Number ol Questions: 44

Display Number Panel: Yces

Group All Questions: No

Question Number : 101 Question Id : 6780949505 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Directions . A gquestion Is given followed by data in the form of two
statements labeied g5 | and ll. Choose the corract option to answer the question.

Yithat 1s the Average mark of three students joined recently In a class”

. The average mark ¢t the ciass before |oining these 3 students 1s 68 marks.

1. Marks of newly joined students respectively are 62.75 and 78.

Options :

The data given in | alone I sufticient to answer the guestion
1

The data given In Ll alone is sufficient to answer the guestion

L J

Both | and Il put together are sufficient to answer the guestion and any
single statement alone is not sufficient

L

Both | and |t put together are not sufficient to answer the question and

additional data 1s neseded
@collegedunias
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Question Number : 102 Question Id : 6780949506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Directions . A question iIs giver foiowed by data in the form of two
staternents labeied gs | and ii. Chaose The correct option to answer the gueastion.

Wihat Is the difference bet~veen Ravi and Raja ages?

F

. After & years the ratio of their ages would be 9.5,

1. Ravi is twice as old as Ragja.
Options :

1 The data given In | alone Is suff.cient to answier the guastion

The data given In |l alene Is sufficient 10 answver the guestion

L.

Soth | and |l put together are sutficient to answer the guestion and any
single statement alone s not sufficient

Lo

Soth | and |l put together are not sufficient to answer the question and
additional data Is needed

Question Number : 103 Question Id : 6780949507 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Directions . A gquestion Is given folowed by data in the form of two
staternents labeied as | and ll. Choose the correct option 1o answer the guestion.

A shop keeper sells some articles and got 5% profit. VWhat s the exact
amount of profit In rupees?

|. Number of articles soid are 10.

. Transport cost of these articles 1s Rs. 150/-.

Options :
The data given in | alone Is sufficient to answer the guestion

The data given in ll alone is sufficlent to answer the guestion

1

Soth | and |l put togetner are sufficient to answer the guestion and any

single statement alone 1s not sufficient
@collegedunias
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Soth | and I put together are not sufficient to answer the gquestion and
addcitional data is needed

Question Number : 104 Question Id : 6780949508 Display Question Number : Yes Single Lince Question Option : No Option
Orientation : Vertical

Directions . A quesion is given followed by data in the form of two
statemnents labeled as | and . Chagse the correct 2ption to answer the guestion.

What 1s the total of ten data items”

. The average of first 4 data items Is 55,

Il. The average of next 6 data items 1z 76.

Options :

The data given in | alone Is sufiicient 10 ansg..er the duestion

The ¢gata given in ll alone 1s sufficient to answer the guestion

L 2

Both | and I put tocgether are sufficient to answer the guestion ang any
single statement alone s not sufficient

Both | and Il put together are not sufficient to answer the gquestion and
additional data Is needed

Question Number : 105 Question Id : 6780949509 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Directions . A question is given followed by data in the form of two
staterments labeied as | and I, Choose the correct option to answer the guestion.

Hows much percentage of profit Ravi got by sellinga T.V.7

|. He brought the T.V. with £22% discount on labeled price.

1. He sold the T.V. with 25% profit on the labeled price.

Options :

1 The ¢gata given In | alone Is sufficient t¢ answer the guestion

The dgata given in |l alone s sufficient to answer the guestion

&
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Soth | and 1l put together are sufficient to answer the guestion andg any
single statement alone is not sufficient

Both | and It put together are not sufficient to answer the guestion and

4 additional data I1s neecded

Question Number : 106 Question Id : 6780949510 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Directions . A guestion is given foicwed by data n ine farm of two
statements labeled as | and . Chocse the corrsct 2ption o answar the gueastion.

A and B started a partnershin business ana got rupees 20 thousands profit.
Virhiat 1s B Share of profit”

. A and B investment ratlos are 3.2,

. B share 15 Rs. 10.G00 |less than A share.

Options :

The data given in | alone 1s sufficient {0 answer the guestion
1

The data given in | alone is sufficient to answer the question

L

Both | and |l put together are sufficient to answer the guestion and any
single statement alone 1s not sufficient

oy

Both | and |l put together are ncot sufficient 1o answer the guestion and
) additional data 1s needed

Question Number : 107 Question Id : 6780949511 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Directions . A question is given foilowed by data in the form of two
statements labeied as | and [, Choose the correct option to answer the guestion.

In how many days can Ram and Kumar together can complete the work’s

. Kumar can complete the job In 30 days.

. Ram ¢can complete the job In 20 days.

Options :

&
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The gata given In | alone Is sutficient to answer the guestion
1.

The data given In tl alone is sufficient to answer the guestion

L

Soth | and |l put together are sufficient to answer the dguestion and any
single statement alone 18 not sufficient

L

Soth | and [l put together are not sufficient to anaswer the gquestion and
adaitional data iIs needed

Question Number : 108 Question Id : 6780949512 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Directions . A question Is given foigwed by data 1 ine farm of two
statements labeled gas | and 1. Chadse the correct 2tion to answer the guestion.

How Jong will It take to empty the tank It Hoin the inlet pipe A and outlet pipe B
are opened simulianeously 7

[. A can fill the tank Ir 20 minutes.

Il. & can empty the full tank in 10 minttes.
Options :

The data given In | alone Is sufticient to answer the guestion

The data given in [l alone is sufficient to answer the guestion

|

Soth | and Il put together are sufficient to answer the guestion and any
single statement alone Is not sufficient

e

Both | and || put together are not sufficient to answer the guestion and
additional data Is neeged

Question Number : 109 Question Id : 6780949513 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

&
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Directions . A question is given foilowed by data in the form of {wo
statements labeied gas | and ll. Chodse the correct 2ption 1o answer the queastion.

Two cities are connected by railway line. VWhat is the distance between two
citles ™y

. The speed of the express train 1s 20 Km/hr more than the passenger train.
1. The passendger train takas 5 hours 10 cover the distance.

Options :

The data given in | alone Is sufficient 1o ans.er the guestion

The cata given (n Il alone is sufficient (o answer the question

L J

Both | and I put together are sufiicient o answer the guestion and any
single statement alone s not sufficient

Soth | and |l put together are not sufficient to answer the gquestion and
additional data is needed

Question Number : 110 Question Id : 6780949514 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Directions . A question is given followed by data in the form of two
statements labeiad as | and li. Choose the correct option to answer the question.

In how many vears will a sum ©of money at simple Interest become treble?

. The rate of Interest 1s 12.5%.

L. The Interest earmned In 4 years |s half of the sum invested.

Options :

1 The data given In | alone is sufficient to answer the guestion

The data given In |l alone Is sufficient to answer the guestion

L 4

Both | and |l put together are sufficient to answer the guestion and any
. single statement alone is not sufficient

&
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Soth | and |l put together are not sufficient to answer the question and

s adcitional data 1s needed

Question Number : 111 Question Id : 6780949515 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vihat is the next number In the series 1.1, 2.4.7. 57 ===-- 7

Options :

18
17
19
16

I

Question Number : 112 Question Id : 6780949516 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

Virhat 1s the next fraction in the series 1/5, 5/7, 8/9, -———-7

Options :

9111

]

1077

L

1010

N

11411

Question Number : 113 Question 1d : 6780949517 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill up the missing number in the ratico 15:3:730---.

Options :

150
o e
15

.

50

=3

Question Number : 114 Question Id : 6780949518 Display Question Number : Yes Single Line

Orientation : Vertical
]
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What 1s the next in the series” DGR, KMNR, RUY, -=--- .

Options :

1 YZD

. TBF
YBE

]
.

, YBG

Question Number : 115 Question Id : 6780949519 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill up the missing numbers in the seres1,54.7.7.3.---11,13,----.

Options :

10,12

10.14

L

10.13

)

1014

Question Number : 116 Question Id : 6780949520 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

it 574 =0, 8719 =27 thenwhatis 11720 =7

Options :

. 30

31

J
g 2f

|

L

Question Number : 117 Question 1d : 6780949521 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the odd man out: Bulb, T.V.. Fan., Car. A.C.. Computer.

Options :

CAC
. TV

5 omputer

&
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, Car

Question Number : 118 Question 1d : 6780949522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the odd man out: 75, 84 60, 93, 68, 48 57

Options :

. BB

. 75
38

<

)

Question Number : 119 Question Id : 6780949523 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fA+ 10=15 angd 10—-E =8thenwhatis A'BE="7

Options :

5
i‘ID
Iy
43

]

L A

I

Question Number : 120 Question Id : 6780949524 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the missing numbper
1 |4 | B 10 | &
T 19 |25 |0 7
T 13 |9 . 2

Options :

4

16
o,
., 4

I-

L

oy

Question Id : 6780949525 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No

Question Numbers : (121 to 127)
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Hint: Use the following table to answer the question .

Sale of batteries sold by a company In 3 years 15 as jollows:

Yearitype | 2014 | =018 | 2016 | Total.
32AH 1d2 | 85 53 250
334 H 105 120 135 | 36l
234 H =10 =R 125 | 390
Total. 317 | 360 | 323 1000

Sub questions

Question Number : 121 Question Id : 6780949526 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which year natteries solg are nighest’y

Options :

- 2014

1
2015

2016

L

, 2017

Question Number : 122 Question Id : 6780949527 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhich type of Battery has continuous increase of demand?

Options :

32 AH

, B5AH
30 AH
35 AH

L

Question Number : 123 Question Id : 6780949528 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Whhat Is the approximate rate of increased sale of 55AH battery from 2014 to
20157

Options :

4091

- 40.19
49.91

]

N

. 49.19

&
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Question Number : 124 Question Id : 6780949529 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Throughout the period which type of bhattery has popular sale?
Options :

32 AH

]
. 55AH

30U AH

L

33 AR

Question Number : 125 Question Id : 6780949530 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Which year which type batteries are sold hughest?

Options :

- 2014.55AF

2015.35 AR

L 2

2016, 55AH
2015, 55AHR

e

Question Number : 126 Question Id : 6780949531 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

in which year which type battery has least demand”?

Options :

1 & | Qe 2

, 2016. 55AH
2015. 32AH

.

2016, 35AM

Question Number : 127 Question Id : 6780949532 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which type of battery has lowest demand?

Options :

32 AH
55AH

.
4 _
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30 AH
., 35 AH

Question Number : 128 Question Id : 6780949533 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

if COMPUTER 1s coded ag RECOTJRPF then CALENDER 18 coded ag -------7
Options :

RELEDNCA

RECADNLE

-
|

- RELECADN

, REDNLECA

Question Number : 129 Question Id : 6780949534 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If TABLE I8 coded as UBCNF then EENCH 15 coded as ~——-------—---7

Options :

1 CFODI

ODICF
FCOID

L

R

CFDOI

Question Number : 130 Question Id : 6780949535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If LIFE I1s coded as 9253, RIPPLE Is coded as 7244932 then PILLER is coded as

Options :

499237
. 994237

420937
423799

I

Question Number : 131 Question Id : 6780949536 Display Question Number : Yes Single Line (hection Onfion * Na (Intion

Orientation : Vertical
]
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if AFPPLE 15 coded as ZKKOY and BANK 15 coded as YZMP then BLACK |s
coded as ------ 7

Options :

YZOXF

1
LY OPX

L

YOZXP

L

YZXPO

Question Number : 132 Question Id : 6780949537 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If BUTTER 15 coded as 123345 ilen RUBEER I8 coded a8 —————-mmmmaa2?/

Options :

221145

]

125247

L2

554511

.

512148

Question Number : 133 Question Id : 6780949538 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a certain code 438271 Is coded as 529120 then what I1s the decoge of
325742-------7

Options :

1 416657

233384
234833

., 234831

L

.

Question Number : 134 Question Id : 6780949539 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a certain language Fen is called black. black Is calle¢ book, book 1s called
blue, plue Is called bag, bag 1s called read and read Is called marks. In that

language what 1s the color of the Sky™?

Options :
Blue

1
&
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Elack
_Bﬂﬂk

-

N

, bBad

Question Number : 135 Question Id : 6780949540 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a certalin ¢code "1 23 s coded as 'CUF and 345 |5 coded as 'PEN 'and '5 6
71s coded as ‘NOT'. Then the word 'PUT is decoded as -------7

Options :

, ok 3%
L 367

o 7 3

L
.

, 227

Question Number : 136 Question Id : 6780949541 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A leap vear consists of how many odd days?
Options :

1 rd-lie

ne

L J

- Two

I

4 hree

Question Number : 137 Question 1d : 6780949542 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The calendar of 2017 |5 the same as the calendar of the following year

Options :

1 2007

12008
2009

2010

L f

.

Fa R ™ T £ v

&
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Question Number : 138 Question Id : 6780949543 Display Question Number : Yes Single Line
Orientation : Vertical



Among the following. which is not a leap vear?

Options :

1 1494

. 2000
. 2004
. 2100

Question Number : 139 Question Id : 6780949544 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Number of odd days In 100 years |5 ==-==-- .

Options :

2z

1

-

e

-
N
&

Question Number : 140 Question Id : 6780949545 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What was the day of the week on 6" June.20027
Options :

. [Uesday

Thursday
. rriday
- Sunday

Question Number : 141 Question Id : 6780949546 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The angle between hours hand and minutes hand in a clock wise direction at
3.00 p.m. I8 ======n- .

Options :
U degrees

20 degrees

1

180 degrees

L

&
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, 270 degrees

Question Number : 142 Question 1d : 6780949547 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Between 11.00 am. 1o 1.00 p.m. Hoth hands of the ¢lock ceincide how
many times?

Options :
1 3 times

1 time

L

| 2 limes

o

Zaro times

Question Number : 143 Question Id : 6780949548 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many times Both nands in a ¢lock are n right angles in a day”

Options :
22 times

11 times

44 times

N

| 45 times

Question Number : 144 Question Id : 6780949549 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many times both hands in a clock point in opposite direction in 12 hours?

Options :

1 12 times

11 times

L J

60 times

L

, S0 times

Question Number : 145 Question Id : 6780949550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

in a digital watch at a Railway station displaying hours and minutes show how
many times all the Four digits same In a day?

Options :
@collegedunlas
India’s largest Student Review Platform

i



1 time
1.

2 limes

L J

2 times

L

, 4 1limes

Question Number : 146 Question Id : 6780949551 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In how many aifferent ways & hbooks ¢an be arranged in a shelf?

Options :

) 201 Ways
100 VWays

L 2

120 VWays

o

a0 VWways

Question Number : 147 Question Id : 6780949552 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

in how many ways one ¢an setect any two different pooks from five DooKs?

Options :

1 20 ways

| 15 WayS

L J

10 ways

]

5 Wy S

Question Number : 148 Question Id : 6780949553 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

N how many ways 4 girls and & boys are to be arranged In cinema theater
consisting of 10 seats In a Row such that all girls must sit together.

Options :

10 WWays

6idl YV ays

L 2

251 Ways

Lo
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4l Ways
4.

Question Number : 149 Question 1d : 6780949554 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

VWhat 1s the value of 30 /281 7

Options :

1 370

780

o/

, 760

.,
.

Question Number : 150 Question Id : 6780949555 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vhat is the value of Py 7

Options :
.
. 20
4. 24
Comnncative English
Number ol Questions: 46
Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 6780949556 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks with the correct article from the given options:

Mr. Ratham is nonorary membper of the Temple Committee,

Options :

| A
A

the
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) No arficle nesded

Question Number : 152 Question Id : 6780949557 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Fill in the blanks with the correct article from the given options:

aitempt has been made to collect funds to start
Public Library.

Options :

1 The, a

AnN. 3

|

A. an

L

| A, the

Question Number : 153 Question Id : 6780949558 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the sentence with nght preposition from the opticns given

helow:
the teacher there are forty students in the class.

Options :

~ With

| Cesde

]

L2

. Bes|des

N

Along

Question Number : 154 Question Id : 6780949559 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Complete the sentence with right preposition from the options given
below:

The members are discussing the Issue.

Options :

R

abhout

y

DVel

L
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, NO prepositicn needed

Question Number : 155 Question Id : 6780949560 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

LUse the correct form of the tense given in the options to fill in the
blank.

No one hotice tha change in you Ul teday.

Options :

| coes Mof

_ does

o not

H

did

Question Number : 156 Question Id : 6780949561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Use the correct form of the tense given in the options to fill In the
blank.

The show hefore | entered the theatre

Options :

| was started

did start

L

| started

.

nac started

Question Number : 157 Question 1d : 6780949562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the right option te fill in the blank to convert the voice of
the sentence from active Into passive.

He oy the police, already.

Options :

| arrested

1S arrestec

- .
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as arrested

)

fas been arrested

Question Number : 158 Question Id : 6780949563 Display Question Number : Yes Single Line Qucestion Option : No Option
Orientation : Vertical

Choose the best word from the following 10 make the sentence
complete and meaningful.

o0 far none of the Ministers allotted pordfolio

Options :

1 =il

Ere

L

| [1as bean

L

have been

Question Number : 159 Question Id : 6780949564 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the best word from the following to make the sentence
complete and meaningful.

Many of the workers to bhe pald the remuneration.

Options :

1 neead

nesds

L J

neaded

L

2 needing

Question Number : 160 Question Id : 6780949565 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct question tag for the following :

| am a good citizen.

Options :

1 Amnt i
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Aty

L J

Arantl]

e

LCont |7

Question Number : 161 Question Id : 6780949566 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

{dentify the synonym for the word, "VERDICT’

Options :
Fronounce

Prompt

=

Agreament

L

Judggiment

Question Number : 162 Question Id : 6780949567 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the synonym for the word, *ABOLISH®

Options :

1_ Enmbellish
Eradicate

ﬁ. Endure

. Export

Question Number : 163 Question Id : 6780949568 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ldentify the antonym of the word, ‘CONDENSE’

Options :

1 MMoyve

Expand

L 2

Recedea

I
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Abscond

Question Number : 164 Question Id : 6780949569 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

ldentify the antonym of the word, "TABUNDANT’

Options :
Reluctant

hinor

|

Meager

L

DUl

Question Number : 165 Question Id : 6780949570 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the one which can be substituted for the given words/
sentence:

The science that deals with birdas

Options :

1 Ornithology

Pathclogy

L J

Ophthalmology

L

Blology

Question Number : 166 Question 1d : 6780949571 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the one which can be substituted for the given words/
sentence:

Cne who Is present everywhere :

Options :

1 ormniscient

~ Omnipresent

-l .
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Nonviolent

_.
.

. Ambivalent

Question Number : 167 Question Id : 6780949572 Display Question Number : Yes Single Line Qucestion Option : No Option
Orientation : Vertical

Choose a suffix/prefix to fill in the blank with the right form of the
word given In  the bracket:

One must be aware of ona's own (abilities ).

Options :

| o -

L

L

Question Number : 168 Question Id : 6780949573 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the right word from the following to fill in the blank:

He recejved a for Re. 1000/- from the Principal as a prize.

Options :
check

chegque

3 chalk

4_cheek

Question Number : 169 Question Id : 6780949574 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the right word from the following to fill in the blank:

There was no Board indicating way out In the theatre,

Options :

1 E it
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Excite

La

Exite

L

Exist

Question Number : 170 Question Id : 6780949575 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the right word from the following 1o fill in the blank:

The machine has been for se In kitehen,

Options :

adopted
1

| aborted

LA

- adapted

L

_aveﬁed

Question Number : 171 Question Id : 6780949576 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ldentify which part of the sentence Is wreng:

One/ should love / his own / country

| 2 - =

Options :

|

-
|

N

2
3
2

Question Number : 172 Question 1d : 6780949577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Identify which part of the sentence I1s wrong:
Prime Minister. Mr. Modi / congratulated the ISRC sclentists / for their success, recently.

1 2 3 —+

Options :

1

1

||

J

2
e
4

Question Number : 173 Question Id : 6780949578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify which part of the sentence Is wrong:

The Pclice Inspector / said that / he nad arrested the thief / yesterday.

1 2 2 =

Options :

1
2

1

L

3
\ 4

oy

Question Number : 174 Question Id : 6780949579 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify which part of the sentence I1s wrong:
COne of my relatives / is having / three Tea Estates / in this valley

1 2 - =

Options :

1
2z

1.

L

I

=3
L]
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Question Number : 175 Question Id : 6780949580 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify which part of the sentence 1s wrong:
[ would like / to get good rank In the Exams / 50 | am preparing !/ nardly.
1 . 3 A

Options :

(1

L

2
!
4

Question Number : 176 Question Id : 6780949581 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct alternative to replace the ifalicized and
underfined part which may improve the sentence:

The new director I1s trying o bring up many improvements In the company.

Options :
1 pring akout

bring ¢own

L J

bring In

e

bring back

Question Number : 177 Question 1d : 6780949582 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct alternative to replace the ffalicized and
underfined part which may improve the sentence:

The principal furned off the lllogical demands of the students.

Options :

turned out

1
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turned in

L

turned down

oy

turned away

Question Number : 178 Question Id : 6780949583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct alternative to replace the italicized and
underiined part which may improve the sentence:

Had he come earlier, he sholid nave mef the celaprity.

Options :

coula have met
]

| Bhave met

L2

wWolld meet

L

wolld have met

Question Number : 179 Question 1d : 6780949584 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct alternative to replace the ifalicized and
underfined part which may improve the sentence;

Being very hungry he hof only ate food but also fruis.

Options :

not only food but ate also fruits

ne ate not only but alsc

o

ne ate not only food but also fruits

I

not only ate food also fruits.

Question Number : 180 Question Id : 6780949585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Choose the correct alternative to replace the {falicized and
underlined part which may improve the sehtence:

it 1z against to the professional ethics for any officer to un behind illegal
money.

Options :

. Tun aleng

running besides

L

run after

L

run peyang

Question Number : 181 Question 1d : 6780949586 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Cnoose the exact meaning of the idiom/phrase used In the sentence
below:

Farental property has become g bone of contention hetween the siplings.

Options :

@ Lnifying factor

something that cause guarrel

L

a firm view

e

a strong agreement

Question Number : 182 Question Id : 6780949587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the exXxact meaning of the idiom/phrase used in the sentence
below:

The foreman hit the nail on the head when he sald that the machine had
malfunctioned because of a faulty spark plug.

Options :

| do or say exactly the right thing

to hit hara on the head

| A

to hige the fact and bt the nall

I
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say inaccurately right apout something.
4.

Question Number : 183 Question Id : 6780949588 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Fill in the blank with the correct phrasal verb choosing from the
options given below

Slowly, her fear of Tlying

Options :

1 dled up

gled on

L

cHed down

3
: cied along

Question Number : 184 Question 1d : 6780949589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank with the correct phrasal verb choosing from the
options given below

The High court has the appeal of the Government.

Options :

set |

set asice

|

set out

L

set Uup

Question Number : 185 Question Id : 6780949590 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank with the correct phrasal verb choosing from the
opticns given helow

The docter says, the patient will . positively.

Options :

sull oft
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|

N

q

ouUll out

oull through

oull gown

Question Id : 6780949591 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (186 to 190)

To answel the guestion read the passade carefully

and choose the appropriate option,

Fondicherry bacame Tamcus and confiruss 12 be so0
necayse of the Adrobindg Ashram. This greal ph: osagher and
avolutionary of Benga, chose PondicneTy (o seltle J20n ang
sropagate his teachings, He foundsd the Ashra at ths urm of
the century, and which has grown In size ana number. He
founded an admirabie discitie in a French woman who, on a
VISIT 1o India Trom France, came s0 much under the spell of the
phtiosophy of Aurobindo that she came a second time never ic
return to her country. She become such an ardent devotee of
AlUrobingdo that he nominated her as his successor and told
neopie that she was capable of greater things. Tne WMother of
La NMere as she was Known continued 0 preside over the

Azhram tili her end at the ripe age of 95

The Ashram has a lot of Indians and foreighers staying
n 11 The philosophy being pemection of man through work -
SVery man or woman can pursue any type of work he or she
ikes but do It with perfection.

Auroviite — the City of Dawn sponscred by the S
AUrobindo Soclety Is just across the FPondicherry order in
Tamil MNadu. [twas established in 1568 with the cooperation of
many nations «whose solis are found nerg and the Impelus
orovided by the Mother. s main work 12 10 wark for the adveant
of & pragressive universat harmony.

Sub questions

Question Number : 186 Question Id : 6780949592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What was the founder of the Ashram before he went to Pondicherry?

Options :

1

He had a society of service of his own.
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He was the ardent disciple of the Mother.

-

He was a revolutionary Bengali and Philosaopher.

L

He was g veteran Freedom Fighter.

Question Number : 187 Question Id : 6780949593 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the philosophy of the Ashram 7

Options :
nerfection of man through work

setfection of woman throlgh work

L.

serfection work through woman

L

perfection work throLigh man

Question Number : 188 Question Id : 6780949594 Display QQuestion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The word, ‘Impetus’ means:

Options :

Thirst

1
1 Thrust

—

Looperation

)

Ferfection

Question Number : 189 Question Id : 6780949595 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How was the [ife-time successor of Aurobindoe known'

Options :
La Mere

The Nother La Mere

&
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-.

.

La Mere the French

La Mere, an admirable disciple.

Question Number : 190 Question Id : 6780949596 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

What was the reason for the French woman not te return to her country?

Options :

The spell of Aurobinao s philasopny
1

The growth of the Ashram In size and number

L2

The desire 1o succeed Aurobindo In the Ashiram

N

Reasons 2 and 3.

Question Number : 191 Question Id : 6780949597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct arder of sentence paits which gives meaningful
sentence.

Rohlt/ In-spite-of warning/ lavishiy / spent money

A = C B

Options :

 ABCD
ADCE

ACBD
BDAC

1

L f

.

Question Number : 192 Question Id : 6780949598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct order of sentence parts which gives meaningful
sentence

103 satellites / India could / Iinto the space / successfully launch at once

&
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Options :

CBDA

]

CABD
BDAC

DCEA

L A

L

Question Number : 193 Question Id : 6780949599 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct order of sentence parts which gives meaningful
sentence

The plan / by the endgineer / vesterday itself / »as finalized.

A = 4 D

Options :

1 ADBC

. ABDC
 ABCD

BCDA

&
.

Question Number : 194 Question Id : 6780949600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct order of sentence parts which gives meaningful
sentence

stugents [ the classes regularly / should attend / of engineering.

A E C B

Options :

- ABCD

'DACB
ADCB

ADBC

L A

]

Question Number : 195 Question Id : 6780949601 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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Choose the correct order of sentence parts which gives meaningful
sentence

praying lips / nands !/ are petter than / helpmng
A = C B

Options :

ADCE

1

. DBCA
DBAC

ECDA

L

Question Number : 196 Question Id : 6780949602 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the mood of the fellowing sentence:

"5hall we come home for breakfast, madam?”
Options :

Requesting
1.

seaking permission

L

commanding

e

apolcgizing

Question Number : 197 Question Id : 6780949603 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

{dentify the mood of the following sentence:

‘Excuse me If | am rude, but the arrangements are poor.”

Options :

1 Regquesting

SeeKking permission

-
[ |

commenting

s
.
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, @pologizing

Question Number : 198 Question 1d : 6780949604 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the mood of the following sentence:

‘Divya, your cance was marvelausl’

Options :

| Commenting

Complementing

FI.
—

commanding

Criticizing
4.

Question Number : 199 Question Id : 6780949605 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the mood of the following sentence:

"‘Could yvou repeat what you said again. please™?”

Options :

1 Requesting

Seeking permission

L J

commanding

Lo

apologizing

Question Number : 200 Question Id : 6780949606 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the mood of the fellowing sentence:

‘I know | have committed a mistake. Sorry, | should not have done It

Options :

Commenting
1

_appreciating
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commanding

-
.

apologizing

L
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